V. Doooooooooooo I

m 0000 D00 M3(k)0D00 f:S— M3(x) 000000 ds?200
000000 AO000000

(61) H := %(h(ehel)-i-h(eg,eQ))

0000000 {e,e} O (S,ds?) 0000000000000

00 6.1. 0 (6.1) 000000000000 {e,ex} 000DOO0DODODOO

000(3.4) 00000000 O

00 6.2. 0 (6.1) 000000000000 HOODOOoVYoooo

00 6.3. 00 f: 8 — M3(xk) 0000000 (U;u,0) 00000000

00 {e,e:} 0000
g:= g% g% _ 3/8u,el> (8/8v,e1>
i 9 9/0u,ez) (9/0v,es)

o (M BB\ _ (P0/0uex) h(0/0v,en)
- hi h3 - h(0/0u,es) h(0/0v,es)

o~ o~

(6.2)

0000000o (,)0O0000ds? 00000 S00000000ADDO
oooooboo0oooOooboobobo0o0 Kooooo HO

__deth
~ detg’

(6.3) K-k« H= %tr(hg_l)

goooo

"2017 0 070 240 (20170 80 1000)
D0 0000 the mean curvature, (6.1) O /200000000000
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000((3)00booooooooo (5.8)DDDDDDDDDDDDDDDDQ§D

gooo
o 9 iy )
ou ov) e eV

0000000ds? = E du®42F dudv+G dv’0 E = (0/0u, 0/0u), F = (9/0u, 8/0v),
G =(0/ov,0/ov)0 0000

E F\

o= 99

000000000 fO00000O0O0OOO0OODOOOOOO0OO0gOOOOODOOOD

goo
A1 Al
-1 g1 92
g =1. .
(g? g%)
goooad
(e1,e2) = ﬁg -1
1,€2) — 8’[1,787.) g
oo

h(e'e~):z2:§l“hj oooo hler,en) hler,e2)) o
v k1 vk h(eg,el) h(ez,ez)

000000000 00000 2H0000000000000O0 O

00000000000000000000000000 2000 f:8— M3(k)
0000000000000ds? 0

ds® = Edu® + 2F dudv + G dv*
goooon
(6.4) dA = VEG — FZ dudv

00000000 ® 00000000 DCUODD DOOODOOOOOOO
oooo

A(ﬁ):/ﬁdA://ﬁmdudv

20ooO0000000000000000000000000000 F (2016 00 2Q) 000000
3)00 000 the area elementd O O O the area.
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0 DOO0O0OODOO00O0O0OOOOOOO000000000000000
0000000000000000 %000 f:8— M3(x)000 %0000
00000 {fi;—e<t<e} O

o fo=1,
o Sx(—ge)>P,t)— fi(P)eSO C™®-000D0O

0000000000

00 {f}0000000000000000000000 CCcSO0000
00000 PeS\CO te(—ee)00000fP)=f(P)0000O0O0
000000000000000 f,=f00000000000000 {f}0
00000000000000

/<Qﬁ
000000000000 v»0O fO00000000000dAODOOOOOO0O
00 f000 {f} 00000000 DODOOOODOO0O0OOOD0 f

0000000 A(4) 00000
00000D00000000000

,1/> dA=0

t=0

e 00 f:8— M¥x)00DD0OD0O0O0DOO0OOO {f}0000
A(0)=0000000000f0000000000 00000

e 00 f:8—- M3s)0D00D00D0000000D0ODOO {f}
0000 A(0)=0000000000f000000000000

0000000000000000 00000000000000 ®00000
ooooooooDooooOoo eMcec-o0ooooooooooooo

obooobooooooooon

00 6.4 (Lawson, 1970). 00000 U 000000000 f: U — M3(kq)
00000000 HOOOOOOH?+k 2000000000 £00
0000000000 f:U - M3(x) 000000

) fl:IDIZIDEID fO000O0ooooooo

e f0D0D0ODO H=+H?-(k—ko)000OO0 f00000000
oooooOo

4900000000000000000 §6
5)0 00 a variation.
0000 0a minimal surface
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oo0e640000000000DO0O0OOO0OO0OOOODODOODODOOOO
O00000000000000000000000 LawsonOOO0O000O0O
gooo

" 000000000 0000 ADDOOOOOODOOO0O0OO0 AOO
gobobobobobobooog

(6.5) AA=AA=(detA)id ([dDOOOOO)
0000DO00oOooooAO0OOQOOOOO
(6.6) A= (det A)A~?

0000000000000

00 6.5. 000 nO00000 A, BOOOO
(1) (4B)=BA4,

(2) E:wamW%MDDDnZQDDDDEZAD
oooooog

00O0OM,(R)000000D000 n0000000000 700000 RY 000
0ooooooo

P: Mo (R) x M, (R) > (A, B) — P(A, B) = (AB) — BA € M,,(R)

O0O0O000PO Ma(R) x Ma(R) ~R?* 0000000 n200 000000
0000000 A4, BeGL(n,R)={X € M,(R);det X #£0} 000O00(6.6) 00

P(A, B) = (AB) — BA = det(AB)(AB) ™" — ((det B)B™")((det A)A™") = O
0000GL(n,R) x GL(n,R) O M,(R)x M,(R) 000000000000 P00

00 PO M,(R)xM,(R) 0000000000000 (1)000000000(2)
0000000000000000000000000000000000000 O

oobD2000000000000D00O

NOoO000000000000000000000000000000000
&gpogoooooo
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00 6.6. 20000000000 M(R)ODDO

My(R) 3 A — A € My(R)
00000000000 0O00UO A, BeMy(R)oooo
(6.7) tr (AB) = tr (AB)

gooooon

00000 ADOOD (a;) 00000
(6.8) - az2 —ai2) _ (a11 + a22) — an —ai2
—a21  a11 —ao1 (a11 + a22) — az2
=(trA)id—A
0000A~AOD00OO (68) 000000

tr (AB) = tr ((tr Aid —A)B) = tr(tr AB — AB) = tr Atr B — tr(AB)
= tr (BA)

oooboooooobooo O

ode7.0066030000000000000DO0O0O0OOOOOOND
0000 ADDOOO A0 AODOOO (n—1)00000000000

A=id, B=

o O =
o o O

0
0
2
0(67) 0000000
0 6.8.200000 A, BOOOO

det(A + B) = det A + det B + tr(AB).
000 BOOOOOOO

det(A + B) = det A + det B + (det B) tr(AB™1).

000006600 A+BO000O0O0O0 A+BOOOOOOO(6.5) 00
det(A+ B)id = (A+ B)(A+ B) = AA+ AB + BA+ BB
= (det A)id +(det B)id +AB + BA.
000000000000000 6600
2det(A + B) = 2det A + 2det B + 2tr(AB)

goooooboo O

m 064000
00 6.9. 2000000000 (S,ds?) 000 ds? 0000000000
OO0 AODOO B500000

he := h + cds? (cOOD)

oooooOoz20000000 ReODDOOODOOOOOOOOOO

00000 51000000000 ds?000000000000000000000
00oo0oDooo (7)) 000000000DDODOODOO O

00 6400000000000 fO00000O ds?, 0000000 hoO0O0OOO
hy 000D0000000D0000000000 {e1,e;} 0000 (6.2)000000
g,h=0000000000

K —
Ko+detg

000000000 KOOO ds?0D000000000000000 ¢00000O0
gooog ke O
hczzh—i—cds2

oo0oooo0o 6900 A.OOODDOODOOOODOOOOOOO ReO h+cg
0000o0o0oDoO0OOo 6.80 (6.3) 00

det h. = det h + ¢* det g + ctr(hg) = det h 4 ¢* det g + cdet g tr(hg ')
=det h + det g(c(c+ 2H))
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00000000000 KO ds? 000000000000000

det h. _ det h B
detg  detg

c(c+2H) = K — (ko + c(c+ 2H))

00D00D0D000D0f0 M3(k) 00000000000 (6.3)000000000
0oooooo
00 HODOOOODOOO ¢O

(6.9) k=Ko —c(c+2H)

oooooooooooo (dsQ,hc)[IDD xO0000000DOO00O00O 580000
oooooouooooooooooo f:U—)MS(K,)DDDDDDD ds’0000
0000 R 0D00DDOODODODOOOOO fOODODOOO

A= trhag™ = Jtr(htcglg™ = Jtr(hg ™) + Strid = H +c.

00 H? - (k—ko) 20000000

¢=—H+/H?— (k — ko)

00 (6.9 00000000000OOOODO O

oo0e64000000000000O0O0O0DODOODOOOOOODODODOOODOO
ooboooboooooooooon

e 000UUDONDRODOOUOD HOOOOODOOOOOOOOOO
000000 983(x)0H(x)00D000000000 VH2-x00
ooooooooo

e D0D0DDODODOD R OIDOOUONONOOONONOOONONOOOOOOOO
0000 H3(-1)00000 1000000000

0 6.10 (0000000). 00000000 R300000 ds? = du®+dv?
000000000 (u,0) 0000000000 K=000OOOOOOO
Doo00o0O

000000000000000000000 H3(-1)00000 100
oooooo ®oooooo vi-1oo &

9000000000 20000000000000000000
10000 the horosphere
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0 6.11 (00D0O000DO). 0O §3=531)0
S = {(z,y,z,w) € R*|2® +y?* + 22 + w? =1}
000000 melf0,1) 0000
I, .= {(x,y,2,m) | x,y,z € R}
D000 I, 0 RYODO0OOOCR3 00000000
S =S8N 1L,

0O s*oo0o0o™wWoood

0000 S*0000000000000000000 I,,(=R3 000
0o00000000ooond %, cll, 00000000000 v1—m?2
00000000l 000000000000 S8 0000000000
00000 ds?20000000%,, 000000 KOOR3OOO vV1—m2

ddddddodooooooa

1
T 1om?
0P=(zy2m0000%,008000000000000000
oo

K

V= iQ(l’,y,Z,O)-F (070307 \% 1 _m2)‘

1—-m
oooooooooao

-m m
dv = ——=d=x r=——(2,9,2,0)4+(0,0,0,m
Viom? im0 )
0000000000 h=—dv-dx O
2
m 2
1im2ds
00D000000000000 m?/(1-m?) 0000 O

0 6.12 (0000000000 CMC-100). 000000000 0O00OO
00000000000 00000000000000000000000
00 »0000000000000000 640000000 H3(-1)0

OoOo00a small sphere.
12)2016 0000000 F
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0000 10000CMC-1000000000000000000000 O 0 VI
00000000000000000000000000 000000 ¥0
VI-1 3000000 H3(-1)0
0000000000000000000000000000000000d
0000000000000 0000000o0ono Yo H3(—1) ={(t,z,y,2) e RT | —* + 2+ > +2° = —1,t > 0}
% gooad

Y= H(-1)n{(t,z,y,2) |t —z=1}
oood

(1) O H3(—1)D[II]DDDDDDDDDDDDDDDDDDDDDDDD

(2) *000000000 R200000000000000000000(z,y)
0oooooooo

(3) *O0oOOoOooOooooooo
VI-2 3000000 H3(-1)0

H*(=1) = {(t,z,y,2) ERT| —t* +2° +y* +2° = —1,t > 0}
000000 m>10000
Em = HS(_l) n {(m7$7yvz)|x7y>z € R}

oooo

(1) %,0 H}-1)000000000000000000000000000

(2) £,0000000000000000000000{(m,z,y,2)}0 R}
00000000000000 RRO00000000

(3) ¥,000000000000

VI-3 000000000r00000 AODOOODOD AODOOD ADOOOOD
ooooooo

3R, Bryant, 1987.
M)OQOoO0000000030000000000000 100000000000470 20019950
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=00

oooooooooooooH

=10

00000 catenoid cousind H

=10

00000 catenoid cousind H



